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68. Let x be a positive integer such that 7x + | 68. AT HIT x TP Y=TH® qUIfe & MR 7x +
96 is divisible by x. How many values of x are |96, x ¥ fRUTSI 8| x & P AT HUT § 2

possible ? UPSC PT 2023 I
a) 10 | a) 10 :}Z\ 76
b) 11 v 8) *11
(912 12 16=32x3
d) Infinitely many d) 3-d ®UH g = {S\ X )
s
ST (1)
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74. How many natural numbers are there

which give a remainder of 31 when 1186 is
divided by these natural numbers ?
UPSC PT 2023
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a) 6
b) 7
c) 8
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74. TR fFaa wipfas S=t € o= 1186 &t

fawiforg 33 W Auwa 31 3maT 8 2
a) 6 7( ) H%é (?
b) 7
-
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1) A watch which gains uniformly ,is 5 1) U® 93! &l 99 9 & agd! 8, ¢ WA
min,slow at 8 o'clock in the moming on &I Ja® 8 a9 5 fye it =) &1t 8 iR
sunday and it is 5 min 48 sec. fast at 8  3T& IAAR F! WA 8 TR 5 T 48 AT

p.m on following sunday. when was it aamﬁiﬁtlusw“wﬁm

correct? a1 e dh

a) 7pm on Wednesday a) muﬂm7ﬁ
\9/2:minpast7pmonWedmsday \)ygﬁmuﬂm7mzoﬁnz

¢) 15 min past 7 pm on Wednesday ¢) qUAR $! AW 7 ToHT 15 e

d) 8 pm on Wednesday d) gmuhmuﬁ










CLOCK

2) In a watch, the minute hand crosses the 2) v udl & e #1 G I IHT F 8T 3

hour hand for the third time exactly after
every 3 hr 18 min and 15s of normal time.
What is the time gained or lost by this
watch in one day?

a) 14 min 10 s lost

\)JI/Sn\inlaslost

¢) 13 min 20 s gained
d) 14 min 40 s gained

ue 18 fire 3R 15 ¥ & T die dud
AR U2 ¥ Y§ B! UR (H1H) S ¢ 98 gI
v =1 | fsa=m aw ar ot gnft 2

a) ufhzwmmwﬂ

13 e 48 9F 3 divdt gnft
¢) 13 e 20 9% &1 99y dw gt
d) 14 e 40 A% T &1 99y = gt
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3) Find the time between 11 am and 12 pm, 3) 11 ¥ Yafg= 3R JUE 12 79t & &9 139
when the angle between minute and hour  |WYQ ®! yId Fifog, wa fire ok 92 &t 4

lundia:Sdegms. & &g &1 & 45 30 8
S\ A

9 N
\)A)/minpmn \))/ntmwﬂ‘ﬁ S[/'W
(B) 13 in past 11 b) 11 3qwaY 13 e ll
(C) 12 min past 11 ¢ 1w 12 fA=e

(D) 68 2/11 min past 11 d) 11 T9®T 68 2/11 e
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4) Between 5 and 6, a lady looked at her 4) 5 3¥ ¢ a0 & dtw v® wfgen & Fww g
watch and mistaking the hour hand for the  w#} u3 v} ik 393 W2 &1 g &) fie #
minute hand, she thought that the time q¢ ang fRra ok 3@ o & 3ud vt =
was 57 minutes earlier than the correct mwﬁmﬁﬂmmt?ﬂm

time. The correct time was CALGRIE LU IR IR R
a)24 minutes past 5 a)5 quPT 24 fse
b) 12 minutes past 5 b) 5aw®Y 12 f=e
¢) 36 minutes past 5 ¢) 5qEHT 36 =T

d) 48 minutes past 5 d) 5 quHT 48 e
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5) The minute hand of a clock overtakes the 5) U® U3! &t e &1 9§ wdt 9wy & 76 e
hour hand at intervals of 76 min of the & 3ET8 WX e ¥t ¥E | fAradt 8, &t aagy

correct time. How much does a clock gain & ag vl s 3= o a=n aw a1 dhit wwg
or lose in a day ? FaTa 2
a) 198 min (loss) a) 198 fime (dhdh)
b) 198 min (gain) b) 198 fie @w)
199 169/209 miin (loss) \_5)” 199 169/209 fre (v

d) 199 min (gain) d) 199 fime @w)
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